IRILF—ERAEORR

BEBEVL A —
1 FRIRLY—E
EE B FE i 4R 5 A 6 A 7R 8 A 98 |10A|11A|128| 1A 2 A 3 A &5t
A k| R7 - 19.6 20.2 | 41.4] 250 115.2
k| R6 - 10.3 26.6 [ 25.2 | 220 57.9| 50.9 [ 36.9| 37.1| 30.3| 24.8| 34.0| 22.7 378.7
T k | R7 - 1.4 0.7 0.3 0.2 2.6
k| R6 - 0.9 0.6 0.3 0.2 0.1 0.1 0.3 1.6 2.4 2.9 2.4 2.0 13.7
i k | R7 - 0.2 0.0 0.2 0.0 0.3
* k| R6 - 0.2 0.0 0.2 0.0 0.1 0.2 0.6 0.0 0.0 0.2 0.0 0.0 1.4
LPG m? R7 - 3.8 3.1 3.7 3.5 14.1
m? R6 - 3.2 3.2 3.3 3.0 3.6 3.3 3.1 3.6 3.0 3.6 3.3 3.8 40.0
aeh 3z Y R7 - 352.4 | 428.9 | 403.5 | 388.7 1,573.5
by R6 - 273.1 500.5 | 418.4 | 428.9 | 536.4 | 457.2 | 218.6 | 574.6 | 438.9 | 316.1 | 283.3 | 302.3 || 4,748.4
AT FkWh R7 - 15.3 6.4 16,0 384 76. 1
FkWh R6 - 6.1 7.6 3.7 3.2 7.3 18.7 | 496.9 8.8 16.0| 340 146.7 | 64.5 813.6
2 RmBEE
EEs] B EE |BER%| 48 58 6 A 7 A 8A| 9A |10A|11A|128| 1A 2R 3 A =1
A k| R7 1.00 19.6 20.2 | 41.4] 250 115.2
k | R6 1.00 10.3 26.6 | 25.2 | 220 57.9| 50.9 [ 36.9| 37.1| 30.3| 24.8 | 340 22.7 378.7
Tk k| R7 0. 942 1.4 0.6 0.3 0.1 2.4
k| R6 0.942 0.8 0.6 0.2 0.1 0.1 0.1 0.3 1.5 2.3 2.7 2.3 1.9 12.9
.. k| R7 0.973 0.2 0.0 0.2 0.0 0.3
k| R6 0.973 0.2 0.0 0.2 0.0 0.1 0.2 0.6 0.0 0.0 0.2 0.0 0.0 1.4
Lpa k| R7 |0.00254| 0.010 [ 0.008 [ 0.009 | 0.009 0.036
k| R6 |0.00254| 0.008 [ 0.008 [ 0.008 [ 0.008 | 0.009 | 0.008 | 0.008 [ 0.009 [ 0.008 | 0.009 | 0.008 | 0.010 0. 102
bz k| R7 0. 7482 263.7 320.9 | 301.9 [ 290.8 1,177.3
k| R6 0. 7482 204.3 374.5 | 313.1 [ 320.9 | 401.3 | 342.1 | 163.6 | 429.9 | 328.4 | 236.5 | 212.0 | 226.2 || 3,552.8
= k| R7 %1 3.9 1.6 4.1 10.1 19.7
AR k| R6 1 1.5 1.9 0.9 0.8 1.9 4.8 | 124.1 2.2 4.1 85| 36.8| 16.2 203. 6
RIEERABRESHE k| R7 - 288.7 352.4 | 347.8 | 326.0 1,314.9
ROEEFRABRESHE k| R6 - 217.2 | 403.5 | 339.7 | 343.9 | 461.2 | 398.1 | 325.4 | 470.6 | 365.0 | 272.7 [ 285.1 | 267.0 || 4,149.4
X1 BEXOBRERHIBRM : 0. 257&&®M™: 0. 23912&%,
; 3 %3 BX
AEH e 8l LPG T ARE a9 2
BEREFRK 38.9 GJ/k! 36.5 GJ/kI 38.0 GJ/KI 50.1 GJ/t %2 | 9.97 GJ/FkWh | 9.28 GJ/FkWh 29.0 GJ/t [ 2 LPGELE:0.001964m°/t
R E R 0.0258 klI/GJ
REBEPHERE 0.0193 tC/6J| 0.0187 tC/GJ | 0.0188 tG/GJ | 0.0163 tC/GJ | — | — | 0.0299 tC/GJ




